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Shall we say that our 7122 is not according to 73737 '

Overview

The term '®»°%' (‘shall we say’) is used (onlyl) when we (ultimately) refute
the proposed hypothesis. Our X3 states "2 X27T Pnoann ®nh (for "
maintains the DWW nnNn AYW3a, one is not YR but is OKR1), seemingly
indicating that ultimately we will find a way how the 7wn can be in
agreement with >"7. However at the conclusion of the X713, it seems that the
mwn is according to 3"7 and not according to °"7. Why then does the X713
use the term '82°%'? Our MO0 resolves this issue.

mooIn anticipates a difficulty:
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Even according to the conclusion of the X3, the 7awn does not follow the

view of 71731 '35 why therefore does the X3 state >33 X597 121 ®»°7, indicating that
ultimately we will be able to interpret the 71wn according to °"97?

mooIn responds:
— 2991 %299 NON AN 299 NYT PN NIDYY INP 191 NIN

Rather this is what the X3 is saying; ‘shall we say that our 7222 is not

according to >''9, but rather it is according to »''9?’ -
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And the X773 concludes that the 71wn does not follow the view of »''9
either (but rather the view of 3"7). Therefore the term 'x»°9' is appropriate.

Summary
The query °"5 X27 Pnoann &n°% really meant n"12 1n°ann X»°2 (which is

rejected).

Thinking it over
If the X7m3 means to ask: '3 pnoinn kL', why does it actually ask: R’
"5 X7 PRvann?!

'See 3" 1"7 2,2 7°11 MDOIN.
* The term 'x»*2' is meant to reject the hypothesis that the 73w is according to »" [and not according to
>"9]. This hypothesis is indeed rejected.
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